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QUESTION 1

A VRTX has storage set up as a RAID 10 in a 16-drive disk group. Each drive is 1.6 TB for a total of 12.8 TB space in
the disk group. There are currently 14 virtual disks of 600GB each. The engineer needs to create three more virtual
disks. The engineer successfully creates two virtual disks but is unable to create the third because there are NO
physical disks to choose from.

What must the engineer do to create the final virtual disk?

A. Perform a reconstruct ofthe physical disk group

B. Update the Shared PERC 8 Firmware

C. Create a new disk group with additional physical disks

D. Recreate the virtual disks with 400GB allocated

Correct Answer: D

QUESTION 2

An engineer needs to configure server 1 to communicate on tagged VLANSs 10, 20, and 30 and untagged VLAN 50. The
server is in SLOT 1 of an FX2s chassis with two FN410s IOAs. The switches are currently set to default settings.

Which command should be entered in each IOA to perform the engineer\\'s task?

A. interface range vlan 10, vlan 20, vlan 30, vlan 50no shutinterface TenGigabitEthernet 0O/1portmode
hybridswitchportvlan tagged 10,20,30vlan untagged 50

B. interface range vlan 10, vlan 20, vlan 30, vlan 50no shutinterface TenGigabitEthernet 0/1switchportvlan tagged
10,20,30default vian 50

C. interface range vlan 10, vlan 20, vlan 30, vlan 50no shutinterface TenGigabitEthernet 0/1switchportvlan tagged
10,20,30default vlan-id 50

D. interface range vlan 10, vlan 20, vlan 30, vlan 50no shutinterface TenGigabitEthernet 0/1portmode
hybridswitchportvlan tagged 10,20,30

Correct Answer: A

QUESTION 3

An engineer responsible for server lifecycle management (e.g. Monitor, Update, Deploy) needs to build a monitoring
strategy for a multi-vendor data center. The company has an established third party software as the monitoring and help
desk system.

Which option should be used to integrate Dell Server hardware into this monitoring architecture?

A. Configure all Dell iDRACSs to send alerts to the third party console. Use OME to do the rest of the lifecycle
management.
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B. Configure all Dell iDRACSs to send alerts to the third party console. Use iDRAC to perform update and deployment.

C. Configure all Dell iDRACs to send alerts to OME to filter out wanted alerts and forward to the third party console.
Build script to do the rest of the Dell server lifecycle management.

D. Configure all Dell iDRACSs to send alerts to OME tofilter out wanted alerts and forward to the third party console. Use
OME to do lifecycle management of Dell servers in the environment.

Correct Answer: D

QUESTION 4

A new node is added to a VRTX to create a compute cluster. This node needs to access the same virtual disk as an
existing node in the VRTX.

Which two settings need to be modified to allow the node access? (Choose two.)
A. Assign the virtual disk Full Access on the new node

B. Change the virtual adapter to Multiple Assignment

C. Modify controller settings to SharedMode

D. Map the same virtual adapter to both nodes

Correct Answer: BC

QUESTION 5

An engineer is configuring a new FD332 storage sled into an existing chassis in SLOT 3. The FD332 is NOT being
detected by the assigned node.

Which two tasks must an engineer complete so that the FD332 is detected by the node? (Choose two.)
A. Verify firmware is up to date

B. Reseat the FD332

C. Import the PERC license

D. Enable the PERC instorage sled

E. Power cycle the node

Correct Answer: AD
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